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3. M A(a) ~B(b) ~C(c) ~D(d) = gejp¥t ¥ B f24cT B -

A BC D
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Ba<b<e<d

(O fr ¢ 3 54pF &
(D) a < [b] < e <1d|

4. 5 1234 x (66 + 55) — 1234 x (65 +54) = ?

(M1
(B)2
(C)1234
(D)2468

5. fA- A-F AR 3-2w=2+18 >z =7
(A)15
(B)5
(©)-5
(D)—15
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(A)48 = 2(z + 13)
(B)48 — 13 = 2z
()48 + 2 =2 x 13
(D)48 + 2 = 2(x + 13)
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1. ] B(2r —8) — (60 +2) = ?

(A)3x—6
(B)3x —7
(C)3z —23
(D)3x — 25
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TALER P LAY
(AMa=3
(B)b=5
(C)e=4
(D)d =8
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(M z + 140
(B)4x + 70
(C)4x + 140

(D) 8z + 140
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(A)35
(B)50
(C)61
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(B) (8z + 10y) = 3

Y
(C)(— + T) X 3

(D) (8 + 10y) x 3

18. Taka:22><3><52><11 = xPxBXxTEx1l ek i oa
Bl T k&b enTli THEARET A b iR Rt ?
(A)2%2 x 3 x 5% x 112
(B)22 x 32 x 53 x 7 x 11
(0)2% x 32 x 53 x 7?
(D)27 x 33 x 57 x 7% x 112
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(A)5.9 x 104
(B)5.9 x 10°
(€)5.9 x 107
(D)5.9 x 108
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(A)2
(B)3
(C)13
(D)14
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A 0GB

6 0 ¢ 6

(B)a — 0—56

O]z —6| =z —
D) |x + 6| = |z + ¢
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